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22X sUS
M SUls AMEE
&S FUXNICUE WA2E Y BEAANELXE (&)
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
SUHS 355,227 348,416 6,811
SUHs A &I 225,710 213,230 12,480
FOXIME WAE2Y & BHAANEXA 136,670 127,870 8,800
FOUNNEEHZY 85,000 85,000 0
201 Let24dy] 85,000 85,000 0
01 At 2teltl 85,000 85,000 0
OHdEHZY Let==EH| 3,500,000& 3,500
OZ A== 72,000,000 72,000
OofIa=¢ 9,000,000 9,000
OXBLHS S 500,000 500
FOIHEOIAAXI&A 33,170 40,370 AT,200
201 L2l 28,360 28,360 0
02 =224l 28,360 28,360 0
OEAMNRUHHANAHEAZ 155,000 128 1,860
Oxg Azl 2,500,000 2,500
OXegESE =Y R ALl 2,000,000& 2,000
OAtR 4 2teltl 22,000,000& 22,000
203 YR =&l 2,010 2,010 0
03 AIHZ=XH R =ZH| 2,010 2,010 0
OSZYRANHFA 2,010,000& 2,010
401 A& HIZ 201 8] 2,800 10,000 AT,200
01 A& HI 2,800 10,000 AT7,200
ORIA SHINLSBA(ZHAIE HLBA)
2,800,000& 2,800
ZEUEE B0 dAL 29 2,500 2,500 0
307 eIzl & 2,500 0 2,500
04 QIZFHALAIH E = 2,500 0 2,500
O2l=s0l #ALZHI 2,500,000& 2,500
2015 AlQlstgr stotS XS al 16,000 0 16,000
201 et 16,000 0 16,000
03 & Ar2 I 16,000 0 16,000
OAlglster stitsHsUH2 16,000, 000& 16,000
Sl EsEY 89,040 85,360 3,680
SClgEEsSEA4NE 89,040 85,360 3,680
301 et a3z 89,040 85,360 3,680
05 8% -0 -tHESEHS 89,040 85,360 3,680
Oos&d=+¢ 200,000& x23H x12& 55,200
OsEaNH= 200,000& x23H x23| 9,200
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22X sUS
M SUls AMEE
Chel: SclttEasss )
SN FHE - B(SA) - MEAY - BHES il 2
Os&a &= 20,0003 x23H 23|« 12& 11,040
otttz asy 50,000& *272H 13| 13,600
HEY2ABH(BUHS) 129,517 135, 186 A5,669
A2IH(BUS) 56,947 50,266 6,681
oA (BUS 56,947 50,266 6,681
101 1A bl 56,947 50,266 6,681
03 RIAHAZZIHE 56,947 50,266 6,681
OF A2 E0l 30,791
A== 1,096,4803 x1H x 123 13,158
-& 03 1,096,480& 1H 4 & 4,386
“A2tel =g 9,340 1 H *22A] 2t+ 123 2,466
-5222FH 74,7603« 1H 2L 128 1,795
=5 49,8403 x 1 52 2,592
-ANdRESFIITE 49,8403 110 499
-Jtat3g 13,157,760 & x 1 % 12% 1,579
- A G AH 80,000& 1 122 960
-WSE2 A4l 60,0003 «1H 128 720
- E F Ot 1,096,480 & * 1% x60%*23] 1,316
= 110,000 x1H 128 1,320
OMREZIE2Y 26,156
A== 922,2403 x1H x12& 11,067
A= 922, 2403 x 1Y x4 3,689
“NZ2tel =g 7,860 *1H *22A1 2tx 12 2,076
S22 62,880 1P 22«12 1,510
-F=E5d 41,9203 x 1«52 2,180
—ANRSF Y 41,9203 18 10 420
AR E=] 11,066,880& x1H x10% 1,107
- A G A 80,000 1 128 960
TR =Ry | 60,0003 1 122 720
-HE SOt 922, 2403 « 1 «60%*23| 1,107
-hEsg 80,000 *1H x12& 960
= 30,0003 «1H «12& 360
123l (BHS) 72,570 84,920 A 12,350
28l (EUHS) 72,570 84,920 212,350
201 Let249H] 36,770 36,200 570
01 At 22l 12,770 12,200 570
ORME2Y MRR2LI(SS) 12,770,000& 12,770
02 =224l 24,000 24,000 0
O&IIR3 16,000, 000& 16,000
OFLRERS 8,000,000& 8,000
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